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- Which one of the

- Who was the propounder of Hill Slope Cycle

theory?

(1) A. Young (2) W.M. Davis

(3) W. Penck (4) L.C.King

(5) Question not attempted

- Which of the following agriculture region is also

known as “heart of world’s wine industry”?

(1) Sugarcane Producing Regions

(2) Mediterranean Agriculture Regions

(3) Commercial Grain Farming Agriculture

Regions

(4) Commercial Plantation Agriculture Regions

(5) Question not attempted

- Consider the following statements and select the

correct answer from the code given below -

Statement (A): The concept of differential

heating about the origin of
Indian monsoon was given by
Halley.
Reason (R): The concept of differential heating
explains the origin of Indian
monsoon.
Code -
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(2) Both (A) and (R) are false

(3) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(4) (A) is true but (R) is false

(5) Question not attempted

following  pair

(Minerals - Mining Area) is correctly matched?

(1) Coal - Bassein

(2) Bauxite - Gorumahisani

(3) Iron - Singrauli

(4) Petroleum - Lunej

(5) Question not attempted

- Which one of the following is correct sequence

of Lakes in Rajasthan from North to South?
(1) Mandal Tal — Foy Sagar — Gaib Sagar —
Fateh Sagar

(2) Gaib Sagar — Fateh Sagar — Mandal Tal —
Foy Sagar :

(3) Foy Sagar — Mandal Tal — Gaib Sagar —
Fateh Sagar : =,

(4) Foy Sagar — Mandal Tal — Fateh Sagar 5—‘ -

Gaib Sagar
(5) Question not attempted

. f=faRea # & o= g

- UBISl 3 9 Rigid & ufiuies & 9

(1) . (@ ST W
@3) s ¥® (4) T dl. fom
(5) argaRa ueA

- e d @ a9 $Y Ry g @

IRE /TS SN & g’ @ ©g § 4T o0
ST 87

(1) T ST Y

(2 —7TeETRg By

(3) TIPS o A BN FR T

(@) IfRTE T R wew

(8) sraRa s

- FIfeT oA R R S gor A A

T FHe ¥ WEl IR g —
PUF (A): IRAT AFYA DI IART G4 A
“mgmﬁﬁaﬂaﬁﬂmm%aﬁmaﬁ
o |
HRY (R): T fa¥es & Gheusm YRd™
A B SART BT T 2 |
32\?_
(1) (A) T (R) TH1 |81 § 3R (R), (A) &1 T8I
ARAT BT &
(2) (A)TaT (R) SHI T &
(3) (A) T (R) I |8 & fBg (R), (A) B
HeE! ATRAT &l BT &
@) (A) @& & fog (R) Tora
(5) 3giRe ueA
@S — == &9)
|El gAfed &7
(1) ®rgen — IRE
(2) diearge — TRARET!
(3) &rer — Rl
@) TR —
(5) 3rgxiRa ye

. =feRag # 9 woemE &1 el &1 STR 9

gferor feem § 9 B9 Hi=ar 27

(1) Aied a1 — BT IR — 19 9K — B8
TR

(2) ¥ IR — Bd8 AR — Aigd did — Big
AR

(3) ®B¥ 9K — Hisdl dIeT — 19 ¥R — Hag
IR

(4) B IR — #ied dld — Bag 9N — 19

IR
(5) Srg=iRa g
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7.

8.

Which one of the following pair
(Country - Oil Field) is not correctly matched?
(1) Saudi Arabia — Ghawar

(2) Iran — Gachsaran

(3) Kuwait — Burgan -

(4) Traq — Qatif

(5) Question not attempted

Which among the following is a town of

Mesopotamia?
(1) Fostat (2) Kahun
(3) Erech (4) Thebes

(5) Question not attempted

“The table of nature is laid for a limited number
of guests and those who come uninvited must
starve.” Who gave this statement related to
population growth?

- FfaRead # 9 sFwT I (9 — dd &9) 98

guferd =gl 87

(1) Il 3RT — =R
(2) S — TEERA
@) ¥a — =

@) RH — FAH

(5) SrgaiRa g

- F=faRaa § &9 s9ar S9N & TR 2

(1) g
(3) g
(5) rgiRe oA

(2) Prg
(4) 99

. ypRy € Ao D W B SRR B RRY

g @il g8 ® ol O fa gom dsHE e
TTP! FTI @I YT BT |7 ST gfg |

(1) Henry George (2) Thomas Robert VISR osa s osin) 5
T (1) 298 S (2) offs¥ 39 ATeRI|
(3) Thomas Doubleday (4) Thomas Sadler (3) o Sqcrs (4) it He
(5) Question not attempted (5) rgaRa ge
9. Result of differential erosion are - fR® rqRes &1 gRumm & —
(A) Structural Benches (A) G¥EATHSD YIfSHTe
(B) Mushroom Rock (B) &3 3ralr
(C) Incised Meander (C) arg-apfila fawad
(D) Demoiselles (D) xT™T
Code - oC —
(1) (B) and (C) () (A)and (C) (1) (B) 3R (C) (2 (A)3R(C)
(3) (A)and (D) (4) (B)and (D) (3) (A) =R (D) (4) (B) 3R (D)
(8) Question not attempted (5) Srg=IRd ue
10. Match the following and select the correct - f=ferRaa &1 gafera aifste den i fiw v
answer from the code given below - HE W HEl SR BT T PIOY —
Mining Area Minerals G & Gt

(A) Akwali and Satkui (i) Fluorite ¢ (A) Ihdrell IR AaHs (i) FIREE
(B) Rampura-Agucha (i) Gold 3"5 (B) YR (i) GIFT
(C) Jagpura-Bhukia (iii) Limestone © W—ﬁﬁv_m (iii) ATSAEN
(D) Mando ki Pal (iv) Copper (D) wie! &) ura (iv) dfar
(E) Sabla—Lohariya v) Lead-Zinc (E) Gac—alrerRar (v) AT
Code - Bhe —
(1) (A)-(iv), (B)-(v), (C)-(ii), (D)-(1), (E)-(iii) (1 (A)-@v), B)-(v), (C)-(ii), (D)-(i), (E)-(iii)
(2) (A)-(), (B)-(iv), (C)-(iii), (D)-(i1), (B)-(v) () (A)-(i), (B)-(iv), (C)-(iii), (D)-(i1), (E)-(v)

. ) (A)-(iii), (B)-(i), (C)-(ii), (D)-(v), (E)-(iv) () (A)-(iii), (B)-(i), (C)-(ii), (D)-(v), (B)-(iv)
(@) (A)-(ii), (B)-(iii), (C)-(i), (D)-(iv), (E)-(v) (@) (A)-(ii), (B)-(iii), (C)-(i), (D)-(iv), (E)-(v)
(5) Question not attempted (5) IR ye
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11. Consider the following statements regarding 11- @l Rex & ww=d # fA=ifeiRad SHoMl W 4=

~ Carl Ritter - PIfog —
(a) Teleological views : (a) $¥AR ILTUATS! fARYRT
(b) Anthropocentric view of geography (b) TS BT AFT—DIad GleHIT
(c) Supporter of the Reine geography (c) TS BT THd
(d) The concept of Landerkunde (d) cieXde &I FqERoT
Select the correct answer using the code given I 3 T He N GEIdT ¥ WE SN B
below - T BITY —
Code - €we —
(1) (a), (b) and (d) (2) Only (a) (1) (a), (b) 3R (d) (2) Bae (a)
(3) (a) and (b) (4) (a), (b) and (c) @) (a) 3R (b) @ (a), (b) 3R (c)
(5) Question not attempted ®) aﬂﬁﬁa LA

12. In which of the following hill range is 12. “SigWgr dEl” F=fafad F ¥ A= gdd
“Doddabetta peak” situated? sge § Rerd 8?

- (1) Anamalai (2) Cardamom (1) =THerTs (2) stz

(3) Nallamala (4) Nilgiri (3) oot @) e
(5) Question not attempted (5) 3rgaiRa we

13. Work related to entertainment and services is 13- HARG T WAl | TR $™ B S
known as - SITaT & —
(1) Secondary Occupation (1) fedme egaar
(2) Primary Occupation (2) yrafAe gqar
(3) Tertiary Occupation (3) geia® aar
(4) Quaternary Occupation W, (4) Tl Faa
(5) Question not attempted :E‘; 1 g (5) 3rRd ue

14. [dentify the marked part in the following' 14 Y9l & WeucHh| & fr=falgd g H 3ifdd
diagram of fault’s components and match it with HET BT A1 PITY 3R 9 i1 <1 T8 = &
the list given below -

4
List -
(i) Throw
(1) Dip
(ii1) Heave
(iv) Hade (iv) S~
(1) (A)-(iii), (B)-(i), (C)-(ii), (D)-(iv) (1) (A)-(iii), (B)-(@), (C)-(ii), (D)-(iv)
(@) (A)-Gi), (B)-(iii), (C)-(iv), (D)-(i) (@) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)
@) (A)-(i), B)-(ii), (C)-(iii), (D)-(iv) (3) (A)-(), (B)-(ii), (C)-(iii), (D)-(iv)
@) (A)-(iv), (B)-(i), (C)-(ii), (D)-(iii) (4 (A)-(iv), (B)-(i), (C)-(ii), (D)-(iii)
(5) Question not attempted (5) IrgailRa we
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15. Given below are two statements, one is labelled  15- = €1 S+ fau U € Uh & HAF (A) 3R
as Assertion (A) and the other as Reason (R). TR P BRI (R) D ©Y H ST 1T 7 |
Assertion (A): India’s export of finished steel P (A): T9 2024-25 B ERM IRT D TIR

declined during the year 2024-25. TWa @ g § o9 e |
Reason (R): Low prices of steel in international PRI (R): AR IR & el &1 $F e
market resulted in low margins on 3 HROT Fgta BT arisr B9 & T
exports. ST Tfee 0 ST
In the above COIIJItCXt, which one of the following Y. W, H BT RS el
is correct? .
(1) (A) s false but (R) s true | g; E:; ;?(E)g?ﬂggfﬁ(m i
(2) Both (A) and (R) are true and (R) is the ’
correct explanation of (A) e &
(3) (A) is true but (R) is false @) (A) W © “@[ﬁﬁ (R) TTefd 8
(4) Both (A) and (R) are true but (R) is not (@) (A) T (R) THT W& € Wb (R), (A) B
correct explanation of (A) e AT el
(5) Question not attempted (5) IrgaifRa we=

16. Which statements are true about Earth’s interior? ~ 16- gedt & aifaRe 9T & ax H Eﬁﬁ'@[ DU qF
(A) Helps in understanding Earth landforms. &7
(B) Temperature rises with depth at the rate of (A) M @l W @l W GRECR A

L Clozdneten : (B) wgqré & WY T 1°C/32 AR @ w
(C) Shadow zone of ‘S’ wave is less than ‘P’ § ggar &

wave. (C) S’ T BT BT &5 ‘P’ a¥T | &H &l
(D) Meteorites that reach the Earth surface are =

indirect source of information. (D) gl & RO W UEAT qd Jepifds
Codo | T B AV A ¥ |
(1) Only (B) and (D) (2) (B), (C) and (D) Gﬁ)m ®)td D) @ B),(C)T (D)
(3) (A),(B)and (D) (4) Only (A) and (B) 3) (A), (B) Td (D) 8 g (A) TG (B)
(5) Question not attempted (5) argaRa ued '

17. Match List-I with List-II and select the correct  17- HI—1 &I GAI-1I ¥ Faferd iy den =

answer from the code given below - AU 77 g | HE IR BT AT PIRIY —
List-I List-II -1 11
(Book) (Author) (Tr) (cTrp)

(A) Cosmos (i) Fleur (A) BIFAMN (i) "R

(B) Erdkunde (ii) Ritter gg:-"% (B) ISHTS (i) Rex

(C) Volkerkunde (iii) Ratzel 5% (C)arevaws (iii) Yeorel

(D) Corridors of Time (iv) Humboldt (D) BiReY 3 eTsq (iv) BHIT

Code - He —

(1) (A)-(@iv), (B)-(ii), (C)-(iii), (D)-(i) (1) (A)-(iv), (B)-(ii), (C)-(iii), (D)-(i)

(2) (A)-(iv), (B)-(i), (C)-(iii), (D)-(ii) (2) (A)-(iv), (B)-(i), (O)-(iii), (D)-(ii)

() (A)-(ii), (B)-(iv), (C)-(iii), (D)-(i) () (A)-(ii), (B)-(iv), (C)-(iii), (D)-(i)

@) (A)-(iv), (B)-(ii), (C)-(i), (D)-(iii) @) (A)-(iv), (B)-(ii), (C)-(i), (D)-(iii)

(5) Question not attempted () aﬂ?lﬁﬁ =T
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18. Simple linear arrangement of dots from right 18- U WHex oM ¥ 0 el BN ¥ HU 40
lower corner to the left upper corner in a scatter P qB ﬁ[@aﬁ 31 v WRaw agawen 3fa
diagram indicates - F & —

(1) Perfect Correlation (1) ITH HeaaH

(2) Negative Correlation (2) TS FeawEr

(3) Limited Positive Correlation (3) YT yaTHs TearE=
(4) No Correlation (@) 313 TEaE e

(5) Question not attempted (5) srgaRa ue

19. In which year the Brundtland Report related to 19 @aq divoi e & wwfud seoe Rae
sustainable development was presented? fra o uxga @ WS off?

(1) 1986 (2) 1985 (1) 19864 (2) 19854
(3) 1987 (4) 1988 (3) 1987 # (4) 1988 %
(5) Question not attempted (5) argaRa uew
20. Who among the following Scholar clearly 20- f=ifeiRag § 9§ fw fAgm 3 vRY 9T &
described the “Great Highway from Susa to Sl A WIfSH a6 & HEM MR $ We
Sardis” of the Persian Empire in his book? ®©Y ¥ 9 I g H e
(1) Herodotus (2) Hecataeus (1) sIew 2) gofeaw
(3) Eratosthenes (4) Anaximander (3) TerRgAw - (4) TaTRdHeY
(5) Question not attempted (5) argaRa we
21. Chambal 65 and Mangla are high yielding 21- T=el 65 T Fel Sod SUW <7 aTd) by &
variety seeds of - : a9t § — '
(1) Bajra (2 Jowar (1) arorRT B 2 W B
(3) Rice . (4) Wheat Eﬁ,-'i (3) =rae B @ 1
(5) Question not attempted Taaak (5) ergaRa ues
22. Which one of the following statement is not 22. f=feiRaq § BT He AL 8T 22
correct? (1) g gRIeT & g a_or § A 4§fy
(1) Madri dam was constructed in second phase - 1 ot far T
(2) goiii?al;:?;?;:onstmcted in first phase of I g7 dalcle g
Dewas project. 1 AT foba |

(3) Dewas project has emerged as the lifeline of @) <are 4 1, NI NI, Ao
Udaipur. ol B ; :

(4) Chandlai dam was constructed in third phase (4) <o gReST & T =_oT H Ao dfe
of Dewas project. @1 fAHfor o |

(5) Question not attempted (5) IrgiRa ge

23. Among the following which district have density 23 IS # 2011 @1 SFVET & AR, e
of population less than 100 in 2011 Census in H 9 59 e &1 S9eiva g9 100 9 39
Rajasthan? 14
(1) Churu (2) Pali (1) g% (@) et
(3) Barmer (4) Jodhpur (3) grewx (4) SrgR
(5) Question not attempted (5) rgaRa u
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24. From given points related to rocks, select the 24- IgMi 9§ ¥rfwd Ay Y fogail 4 9, i &3
correct statements from the code given below - 1P} HT | G2 BUAT BT IIq a%’rﬁ}rq
(A) Igneous rocks are primary and crystalline (A) amﬁrq TS U 9 YdeR 9gH Bkl € |
rocks. = | : (B) <lIT¥ U& IHgwTal =g 2 3R YdeR Bl
(B) Loess is a sedimentary rock and is 4
crystalline. TR FTART
(C) Marble is a metamorphic rock. g s i e
el (1) e (B) @ (C) @ (A), (B) T (C)
(1) Only (B)and (C) (2) (A), (B) and (C) gy s &) e
(3) Only (A)and (C) (4) Only (A)and (B) 3) (A) T (C) @) (O (B
(5) Question not attempted (5) srgaRa v
25. Which among the following countries has the  25- HJaq oA (3FIRGT) PIRiS AIeor RS 2024
highest iron ore (crude) reserve in year 2022 as % R a¥ 2022 # HfaRad § 9 foa <=
per US Geological Survey Report 2024? H dIE RaG (F=d1) BT AfAHad HeR 87
(1) Brazil (2) Russia (1) sl (2) w9
(3) Australia (4) India (3) aifegforar (4) 9Rd
() Question not attempted (5) srgaRea U=
26. According to Malthus, which of the following  26- f=falRad # | HF™T/¥ "o & 9K,
factor is/are responsible for population control? S fFEE & iy STReR)l dR& 8 /77
(A) Postponement of marriage (A) faare ®rM™
(B) Artificial means of family planning (B) RaR fw= & ofm wre
(C) Natural disasters (©) ;"??—ﬁ'—cﬁ MUY
(D) War and famine (D) {F&' g ﬂ@qﬁ
Code -
v Sad (B) g ) ) e @5 @ (4), (B). (C)3R (D)
(3) Only (A) (@) (A), (C) and (D) (3) Bt (A) (4) (A), (C) 3R (D)
(5) Question not attempted (5) SrgeiRe o
27. Debris controlled slope is called - 27. Aoqr T grer e & —
(1) Free faceslope  (2) Rectilinear slope (1) g = Qred (2) ¥t &Y e
(3) Convex slope (4) Concave slope (3) I eI (4) 3 @t
(5) Question not attempted (5) Ir<iRa ue
26, fRSOMSIIEY x 100 is called - 28, COHT 0 100 e & -
(1) Relative humidity (2) Absolute humidity (1) wfeys amsar (2) FRUeT smgar
(3) Specific humidity (4) Saturated air (3) fakre amsar (4) Hg< 9y
(5) Question not attempted ﬁ‘i (5) 3rgIRa ye
29. Choose the correct statements - 029, FE U I gAY —
(A) Punjab and Haryana are traditional rice (A) Uoe 3R ERaen TRURS =Ee Ides
growing areas. & B | i
(B) In Himalayan Highlands, wheat is a rainfed (B) %, fewrerm & Syl | aut smunRa
crop. A ¢ |
(C) Tea plantation started in India in the decade (C) TR § 91T 907 B o3I 1840 B TIH
of 1840. q g
Code - oT —
(1) (B) and (C) (2) (A)and (B) (1) (B) T4 (C) (2) (A) T4 (B)
() (A),(B)and (C) (4 (A)and (C) () (A),(B)TE(C) @ (A)TI(C)
(5) Question not attempted (5) argiRa weA
32- Page 7 of 32



30.

31.

32.

While calculating Human Development Index,

weightage given to its different dimensions is -
1

(1)~ ()

4
@ )
(5) Question not attempted
Match the following and select the correct
answer from the code given below -
Agro-Climatic Zone Soil Type
(A) Arid Western Plain (i) Brown Red Rocky
(B) Irrigated North-West (ii) Black
" Plain
(C) Sub-Humid Plain (1) Dark Red Rocky
(D) Humid Southern Plain (iv) Sandy
(E) Humid South-Eastern (v) Alluvial
Plain
Code -
(1) (A)-Gi), (B)-(iii), (C)-(v), (D)-(i), (E)-(iv)
@) (A)-(iv), (B)-(v), (C)-(i), (D)-(iii), (E)-(ii)
() (A)-(iii), (B)-(v), (C)-(i), (D)-(iv), (E)-(ii)
@) (A)-Gi), (B)-(iii), (C)-(iv), (D)-(ii), (B)-(v)
(5) Question not attempted
Sura Ghat is a locatedin _ (B) .

nlRkrw|ek

(1) (A)-pass, (B)-North Eastern Aravalli

33.

(2) (A)-plateau, (B)-Southern Aravalli

(3) (A)-peak, (B)-Central Aravalli
(4) (A)-pass, (B)-Central Aravalli
(5) Question not attempted

Which among the following is/are the
fundamental argument/s of the Behavioural
Geography?

(A) People have environmental images in their

mind.

(B) Those images can be identified accurately
by researchers.

(C) There is no relationship between
environmental images and the decision-
making process of man.

Select the correct answer from the code given

below -

Code -

(1) (A) and (C) are correct

(2) (B) and (C) are correct

(3) (A) and (B) are correct

(4) Only (A) is correct

(5) Question not attempted

30.

31.

32.

33.

A9 e qadie 3 T FR GG, 39
fafs=1 smammi &1 wikar €1 o) & —

(1) _ (2)
(3) T, (4)

Masaw

(5) g ueA
fFefaRaa @1 gafea siIfvrg @em i Ry 1y
HC § Fel IR BT I PIIY —

PR—Targ U9 et @1 yoR

'h-.:

NiR&]=
U =W | =

(A) I=p 9R=dl e (i) T A geert
(B) fifaa STR—uf¥=#ft (i) 1l

e
(C) S9—aTT% H ™ (iii) &R ST TS
(D) s <ol A (iv) Nl
(E) ol gferor—gdf 35m (v) Sielie
W 3

(1) (A)-(ii), (B)-(ii), (C)-(v), (D)-(l), (E)-(iv)
) (A)-(iv), (B)-(v), (C)-(i), (D)), (E)-ii)
(3) (A)-(iii), (B)-(v), (C)-(i), (D)-(iv), (B)-(i)
(4) (A)-(G), (B)~(ii), (C)-(iv), (D)-(ii), (B)-(v)
(8) SrgaRe we

=

(1) (A)—<T, (B)—STR—gdl 3RTEed!

(2) (A)-USR, (B)—<femll aRTaei

(3) (AR, (B)—7eu 3RTGel

(4) (A)—<=T, (B)—HeH 3RTEcH

(5) srgaRa ueA

IIERAG] A B /b fFEfafea § 9

DITH / DI JARAT T & /87

(A) =fdai & AN araraReiy ufafes e
2|

(B) W ufafawt &1 wedaiell gRr aReega
¥ YA I Ahell 2 |

(C) ararexef wfafewst @ aafeg & fFoflg o=
&1 ufebar § = e 8 2|

A fay 1T e ¥ 9 SR BT 99 BT —

Hwe —

(1) (A) T (C) ¥Er &

(2) (B) T (C) |eI &

(3) (A)T=r (B) el &

(4) Hael (A) FET B

(5) IrgaiRa g

32-
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34. The main cause of existence of Doldrum belt is -
(A) It lies in cold regions
(B) High temperature and low air pressure
(C) Wind is calm here most of the time
Select the correct answer from the code given
below -
Code -
(1) (B) and (C) are correct
(2) (A), (B) and (C) are correct
(3) Only (A) is correct
(4) (A) and (B) are correct
(5) Question not attempted
35. Consider the following statements and select the
correct answer from the code given below -

(A) Karbi Anglong is a part of Peninsular

Plateau of India.

(B) Indian desert region was under sea during
Mesozoic era.

(C) Eastern Indian coast is favourable for
development of port and harbour.

(D) Ritchie’s Archipelago is in Arabian Sea.

Code -

(1) B),(C)and (D) (2) (A)and (B)

(3) (B) and (C) (4) (A), (B) and (C)

(3) Question not attempted

36. Which of the following is not correctly matched?

(1) Erosional Landform formed by Glacier -

Nunatak

(2) Depositional Landform formed by wind -
Inselberg

(3) Erosional Landform formed by wind -
Yardang '

(4) Depositional Landform formed by Glacier -
Kame

(3) Question not attempted

37. Who has considered boundaries as “Political

Isobar lines”?

(1) Lord Curzon (2) J. Ancel

(3) A.E. Moodie (4) F. Ratzel

(5) Question not attempted

mmmng

34. SeTgH I B AT P H PRI R —
(A) I B yowi # Rea :
(B) S AIUEM TUT <A d1g &1
(C) TEl SRR g Tid IE B
T faT Ty g ¥ e SR BT g9 DY —
‘qz\f'_
(1) (B) @I (C) W& &
(2) (A), (B) @ (C)weT &
(3) Bact (A) Wl B
(4) (A) T (B) |l B
(5) SR weA
35. fafaRRad wol W faaR FIvg qen 9= fig
T G BT STINT Fd Hal SR B Fgo
DITY —
(A) SHET AMAT R & IFNE U8R Pl
s
(B) WINIE® T & THY AR Ao &
S @ A o7 ‘
(C) q@l 9RAE ¢ UIE g BeR @ fAdr &
forq st B |
(D) R EI0FE 3RT PR # |
ﬁz\_d_
(1) (B), (C) Td (D)
3 B)T(C)
(5) SrgaRd we
36. fymforRad # | @i gAfera & 27
(1) Bar gRT T sTRE e —rdfa —
T
(2 wgg gxr e f[afa gemefa -
ERiCL

(2) (A)Ta(B)
@) (A), B)E(C)

~EPfL
;,t(3)qa?f gRT AT rReETTe J—eTdfa —
YRS

@) e grT T Faftd q—emefa — o8
(5) ergeRa g

37. frem ARl 31 SIS TR @RI B
FAM AT 87
(1) S HuH ) <. T
(3) v T2 (4) U%. Yo
(5) IreiRa ue

32-[E
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38,

The correct group of Geographers who 38 &1F yHwuar Rigid & wfoures # W8T H=
%c}}lntdbu'ted to the development of Unified Field qrel el BT HE W | — |
eory is -
(1) S.B. Jones — Cohen — Richard Moore — Vi S i NS TR e
Carlson : () g o= — 9 %Eﬁ?ﬂ — BIe9E —
(2) S.B. Jones — D. Whittlesey — Hartshorne — Ttedq
Qo ®) gRR HBE — AfFver — wadl I -
(3) Thayer Mahan — Mackinder — S.B. Jones — i
~ Spykman WIgHHA
(4) Demanzia — Karl Haushofer — Ratzel — (4) SHiforar — SIet BIIHY — Yeud — Doled
Kjellen
(5) Question not attempted ) a3 b
39. The midterm objective of National Population 39 YT&TI Si=vivadT Ifd 2000 & HeAGENA Ted &
Policy 2000 is to bring Total Fertility Rate AR, fl IoT+H X (T.F.R.) DI fbd gfeemu=
(T.F.R.) to the replacement level of - R d% o 87
(1) 2.1 children per woman (1) 2.1 f3rg ufcy afeen
(2) 1.8 children per woman (2) 1.8 f3rgy wfer Afgen
(3) 2.3 children per woman (3) 2.3 Ry ufa Afger
(4) 2.0 children per woman @) 2.0 RBryg ufc wfeen
(5) Question not attempted (8) IR U
40. Steep slope of V-shaped valley is an example of- 40 f—3MHR P HIST BT W Tl IGATEIV & —
(1) Tertiary slope (2) Primary slope (1) g e &1 (2) Ui e &1
(3) Quaternary slope (4) Secondary slope (3) =Tgeid TTel Bl @) fgdias o1 @
(5) Question not attempted (5) ariRa ue
1. According to Census 2011, the states with 41 SFRIOMT 2011 & SRR, WA ¥ HHL: ATH
minimum and maximum population density in g JAfSrpad STHEEIT g9 9l ¥og & —
India respectively are - (1) oVl W29 T fRIER
(1) Arunachal Pradesh and Bihar @) PR e
(2) Arunachal Pradesh and Kerala ; :
(3) Nagaland and Maharashtra @) QEI e ;
(4) Mizoram and West Bengal (@) fasRe vd uRem §me
(5) Question not attempted (5) 3rIRT g
42. In upper air, inversion of temperature of trade ~ 42- HUW 1Y #, YRS Gl & A JHAY
winds are generally associated with - HERUG: 9 8l & —
(1) Downward movement of Jet streams in (1) Sw1 fesd &=l § oic grpi & 9" 3
tropical regions AR THA |
(2) Warm cyclones of tropical and sub-tropical ..., (2) g‘T’T AT IUIWT BicTeg &=l & T4 Fgharal
regions
(3) Warm anti-cyclones of tropical regions L (3) o1 oy &5 & T sRvamandt 9
(4) Movement of cold air on warm air (4) ¥ BamRll @ HUR SSI TARI B THT W
(5) Question not attempted (5) gIRa U=
43. ‘Desertification and Land Degradation Atlas of ~43- "R & FORUAIGRT Td YA s
India-2016’ has been published by - UeeTd—2016" &1 YheH fhdad grT fohar ar?
(1) NATMO (2) CAZRI (1) NATMO (2) CAZRI
(3) ISRO (4) NRCAH (3) ISRO (4) NRCAH
(5) Question not attempted (5) IrxRd U
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44. The following climate diagram of Winnipeg city

represents s
70
- \ 60
50
X -
ey AY » o
5 30 3
g 2 8
= =
E -10 E
= I
o St
< 4 =
3 fiy
2
1
0

JFMAMI] JASOND

MONTHS

(1) Middle-Latitude Steppe Climate
(2) Low-Latitude Steppe Climate
(3) Mediterranean Climate

(4) Middle-Latitude Desert Climate

44. fIFTIT 2R &1 Fr=IfRad STefaryg IR qhic
3 _

LT T 36'3

50
40
30
20
10
0
10

(do) bellshiD

aui (§a)

L= SRR

JFMAMJ JASOND

LEiR
(1) Feg—sreeia WUl Saaryg
@) sy wd Seary
() YHI—AFNIY Serdry
(4) Feg—3peTieig TowINy Sofarg

(5) Question not attempted (5) 3R ye
45. Halocline zone is related to - 45. BAIGTST HUSSl Pl Hae & —
(1) Air pressure (2) Salinity (1) ag g9 & (2) oo |
(3) Temperature (4) Density (3) TIHE ¥ @) oa ¥
(5) Question not attempted (5) IrgaRa we
46. When was the first National Population Policy of ~ 46. WRT &1 %o 1Y W= Ny &9 =i
- India formed? TRy A :
(1) Year 2000 (2) Year 1972 (1) & (@d¥) 2000 (2) |7 (ad9) 1972
(3) Year 1984 (4) Year 1976 (3) &+ (ad) 1984 (4) | (a¥) 1976
() Question not attempted (5) Srg=IRd ye=
47. The correct group of States of India situated 47- RIMR & FRIER AT & FRT TR 87 HRd
along the International border of Myanmar is - & At BT TR TE & -
(1) Arunachal Pradesh, Nagaland, Manipur and 1) i 5 AR T et
Mizoram Aeligo . : -
(2) Meghalaya, Manipur, Tripura and Assam (2) Herrera, AR, YR Td aH
(3) Assam, Arunachal Pradesh, Nagaland and (3) 3, SBUMTEE U, ANAvS Ud AR
Manipur 3 o
(4) Nagaland, Tripura, Manipur and Mizoram 5 . 9T, TG N e
(5) Question not attempted (5) srgafRa o
48. Which of the following ocean current system 48 ET@W?I Jedifed HENR &l f=falRaa 4 |
sequence of South Atlantic Ocean is correct? HYs °RT YUl &7 559 Fal 57
(1) South Equatorial Current -‘Bengl'lela Current 5= (1) E{fﬁw :Iqwi'tr;ﬁ'q gRT — QT ORT —
- Brazil Current - West Wind Drift ¥ FRid gRT — giEE 9 vaE
(2) West Wind Drift - Brazil Current - Benguela (2) ul¥=Hl 9] ydE — Soflel ORT — Ul
Current - South Equatorial Current gRT — FE0T ARG aRT
(3) Benguela Current - Brazil Current - South () ST gRT — § A ORT — g
Equatorial Current - West Wind Drift THERE gRT — uf¥adl 9y yars
(4) South Equatorial Current - Brazil Current - @) sfayor peE gRT — did 9RT —
West Wind Drift - Benguela Current U 9r] UaE — dUal SR
(5) Question not attempted (5) argaRa we
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49. National Technical Textile M1551on is associated
with -
(A) Agrotech
(B) Sportstech
(C) Infotech
(D) Meditech
* Select the correct answer from the code given
below -
Code -

(1) (A), (B) and (C) only

(2) (B) and (C) only

(3) (A) and (D) only

(4) (A), (B) and (D) only

(5) Question not attempted

50. Vilas and Lasi are tributaries of -

(1) Chambal (2) Parvati

(3) Kalisindh (4) Kothari

(5) Question not attempted

51. Consider the following statements -

(A) Both Loamy and Clay soil types are found
in it.

(B) This soil has the ability to hold moisture for
a long time.

(C) This soil is found in Bhilwara, Ajmer,
Sirohi districts.

On the basis of above statements identify the

type of soil in Rajasthan -

(1) Red-Yellow Soil

(3) Red-Loam Soil (4) Alluvial Soil

(5) Question not attempted

52. Which one of the following pairs is correctly

matched?
(Irrigation Project) (District)
(a) Reva - Pratapgarh
(b) Lhasi - - Baran
(c) Folai Lift - Jhalawar
(d) Kaliteer Lift - Dholpur
Select the correct answer using the code given
below —
Code -

(1) (b) and (d) (2) (b)and (c)
(3) (a), (b) and (c) (4) (a) and (b)
(5) Question not attempted

__?

(2) Medium Black Soil RERR

49. Iy gaa ae e fras Hefg 27

(A) TUICH
(B) WigHcH
(C) 3BICH
(D) HEICH
A QY 7Y FHe | A SR BT g9 DIVIG —
'azc'_f =i
(1) @de (A), (B) T (C)

 (2) B3 (B) Td (C)
(3) et (A) Td (D)
(4) Bael (A), (B) Td (D)

(5) srgaRRa ue

50. fycra qenm oIl werd At § —
(1) =gat &1 (2) gt @1
(3) Prel Ry @t (4) PRI o
(5) srgaiRe we

51. f=forRaa oMl &R AR @ —

(A) 3% fbT 7 ST SHI TBR BT FaT Herdt
g

(B) 3 HaT ¥ I 1% WHY q% GRVI PR
@1 T BN © |

(C) IE wa1 Hioare], R, RRE el 3

- fAerh 2

IWIFT AT & R TR IASIRATT DI Ja&T Bl

= UBR gAYy —
5 () arediel gar (2) HegE preh HaT
(3) o a1 (4) Fdie gar
(5) argaRa W
92 fofeiRad § BIvT g Rl gAfer &7
(GEIERECIEED] (FoTe)
(a) Xar - HauTe
(b) BT - IRT
(c) wrars forge - EIGIEIS]
(d) iR fore — Ik

Ha QY Y Fe $ FERAr 9 HE S Bl
TG DI —
353—

(1) (b) 3R (d)
@) (a), (b) 3R (c)

(5) srg=iRa ueH

2 (b) 3R ()
(4) (a) 3R (b)

32-[E
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53.

54.

55.

56.

57.

58.

Height of a tripod stand in Plane Table Survey
is -

(1) Approx. 1.75 meters

(2) Approx. 1.50 meters

(3) Approx. 2.00 meters

(4) Approx. 1.25 meters

(5) Question not attempted

The first master plan was prepared for which city
in India?

(1) Mumbai (2) Chennai

(3) Delhi: (4) Kolkata

(5) Question not attempted

Which among the following river is most
polluted?

(1) Godavari (2) Yamuna

(3) Brahmaputra (4) Satlyj

(5) Question not attempted
In asymmetrical frequency distribution, the
correct formula to express the relation between
arithmetic mean (X) , mode (Z) and median (M)
is -

1 M=
® Z=3M-2X @4 X=

(5) Question not attempted

3X+Z (2 Z=2M-3X
2M-Z
3

Which among the following pressure belts have

53.

54,

55.

56.

57.

been formed due to dynamic and thermal factors,

respectively?

(1) Sub-tropical high and polar high

(2) Sub-polar low and sub-tropical high
(3) Polar high and sub-tropical high

(4) Equatorial low and polar high

(5) Question not attempted

Match List-I with List-II and select the correct
“answer from the code given below -
List-I List-IT
(Candolle Plant (Koppen Climate
Classification) Classification)
(a) Mesotherms i A
(b) Megatherms (i) B
(c) Microtherms (1ii) C
(d) Xerophytes @iv)D

Code -

(1) (a)-(iii), (b)-(iv), (C) @), (d)-(i1)
(@) (a)-(ii), (b)-(0), (c)-(iv), (d)-(iii)
@) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)
(@) (a)-(iii), (b)-(0), (c)-(iv), (d)-(ii)
(5) Question not attempted

8

1= b

.

o

=

58.

o egel |ago ¥ U Ws @ s ® —
(1) TRMT 1.75 Hiex
(2) ST 1.50 Hiex
(3) ST 2.00 Hiex
(4) ST 1.25 Hiex

(5) =R ue

YR H U ANeY O fhg Ier & fov R
o e

(1) g (2) ¥=7$

(3) faceir (4) P

(5) SrARa W -

Prefeifam & & SR 7 o wgfa &7

(1) T (2 Tg
() s'Igx (4) e
(5) srgRa ueA

AT IRIRar faaRer § e ' (X),
gD (Z) TAT ARIHT (M) & dra G e
FRA P FEl G © — '

3X+Z
N Mi=—

@) Z=3M-2X

(5) Ir<iRa ueA

feafaRaa # 9 &7 gam@ ufeal &1 fAEior o
Tfi T AT HRPI A G o7

(1) Suwsieem S=a dor garg 9=

(2) Suydia =1 ae SUIwTHeE S

(3) gdry S=a quT SUIWheddy 9=

(2) Z=2M-3X

@ X=22

@) FeREr = T gd 9=
(5) srgaiRa e
Al B Al & T FAferd dX AR A
ﬁq%m H ¥ gE IR BT TIT Py —
—1
(@vere &1 gfa (@ BT Seraryg
CUIEL) ERiGaY)
(a) AT (i) A
(b) #TTrH (i) B
(c) ATSsHIRH (iii) C
(d) SRI®1SE (iv) D
ﬁ"_

(1) (a)-(iii), (b)-(iv), (€)-(1), (d)-(ii)
(@) (a)-(ii), (b)-(), (c)-(iv), (d)-(iii)
(@) (a)-Gi), (b)-(iv), (©)=(i), (d)-(iii)
(4) (a)-(iii), (b)-(0), (c)-(iv), (d)-(ii)
(5) srgaRa e

32-
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59. Which of the following Landform is not formed ~ 59- fr=ifoiRag § ¥ Pl Y—3AThid yared oiet
by running water? gwT AT T8 87
(1) Tarn Lake (2) Plunge Pools (1) e =ha (2) rg4fdg wve
(3) Canyon (4) Gorge 3) dfva= 4) Tt z
(5) Question not attempted (5) srgaiRa U
60. Which of the following school of thought is also ~ 60. fy=foiRad & & frg fA=muNT @7 ;'41\—'5{331 E|
considered as ‘Biography of the landscape’? Siras gRa’ W 74T ST 87
(1) Positivism (2) Existentialism (1) ycyeare. (2) RTEare
(3) Pragmatism (4) Realism (3) Qevyare (4) Zemefare
(5) Question not attempted (5) argaRa usH
61. As per Weber’s Least Cost Theory, if both the  61- 9q= & =g=igw wrTa Ryegia & @R, af ST
raw materials are away from market at a fixed Ped HeT 99N 9 ¥, Ff¥Ed e w® g B
place and both are pure, then the industry shall g 3R <1 g € O SEn B v Brf —
e -_ (1) &= 71 @ e
(1) Near raw material | (2) 2T (@R T B He B )
(2) Both (near market and raw material) a) o B
(3) According to location-triangle el
(4) Near the market ) AR & fwe
(5) Question not attempted (5) SrgaRa e
62. Who among the following supported Stand-Still ~ 62. fp=feRad & & fbe 9qe o § uRada w
Theory of coral reef formation with emphasis on SR <d gY Hdre farfy ﬁ'l’:l‘rUT % Rer zera
change in sea level? freid &1 wqel9 fear?
(1) Oliver (2) Daly S (1) anfera= (2) Sl
(3) Murray (4) Darwin m 3) ™ @) e
(5) Question not attempted L, (5) rgaRa v
63. Which one of the following is not an approach to ~ 83. fm=ifefad # & ®F T o "M quled @
Human Geography? ' SUNTH &l 87
(1) Spatial Organisation (1) zenfas HTeq
(2) Regional differentiation (2) &= faes
(3) Map Projection (3) s gagor
(4) Postmodernism in Geography (@) yer § IR SMmYfHadararg
(5) Question not attempted (5) srgailRa ue
64. According to the Rajasthan Forest Report 64 Iowers a9 e 202324 & AR, Gl
2023-24, the descending order of the districts of 3Mpferd 99 &5 I8 2021 &) qﬁ‘g T ISR
Rajasthan in terms of total forest area of year P Rl &7 RS HH & -
2021 assessment are - (1) TATNTE — JEAGR — AR — AR
(1) Pratapgarh — Udaipur — Alwar — Baran (2) TTIR — SR — TG — AR
(2) Udaipur — Alwar — Pratapgarh — Baran @) _ SR — AR - -
(3) Pratapgarh — Udaipur — Baran — Alwar ' :
(4) Udaipur — Pratapgarh — Baran — Alwar (4) SR — HATTTS . AT
(5) Question not attempted (5) srgafe e
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65. The ‘Baroque style’ was related with - 65. 'gRI% yomelr wrfRa off —
(1) é;g;‘i(;ultural system in Medieval European (1) FeRpT TR R PR vy W
(2) Urban planning in Ancient Nile Valley (2) a1 €Y =TT B A TR A TR RS
Cities. Al
(3) Urban planning in Medieval European
aiids: (3) FEg e QR TR § TR e 4
(4) Agricultural system in Ancient Nile Valley @) e AN 79 T B uefy
Civilization.
(5) Question not attempted (5) srgaRa s
66. Which of the following objectives is/are related 6. fy=ifeiRad # & HAT/¥ @ed 3 AT
to the New Population Policy-2000? ----p FIfd—2000 & Gefd 8 /87
(A) To provide compulsory education to EFRZE‘ (A) 1499 TP & g=a] P Afard fB¥iem ueH
children upto 14 years of age: T |
(B) To - reduce pregnancy related female (B) Twigwen ¥ wWefd Afgen BRICEy 3 100
mortality rate to 1es.s than 100 per lakh. Ry @RE | S |
(©) AF lt?ast 80_% of bnjths should take place () T I B 80% ST BT Rifpearert @
within hospital premises. oRRY § G B |
(D) Bringing the total productivity rate to the
replacement level of 2.1. (D) el o aﬁ 2.1 % GO TR
Code - go i '
(1) (A), (B), (C) and(®) (B), (C) and (D) &< - :
(D) (1) (A), (B), (C)3R (D)) (B), (C) 3R (D)
(3 (A),(C)and (D) (4) Only (D) (3) (A), (C)R (D) (4 el (D)
(5) Question not attempted (5) IR we
67. The propounder of “Stop and Go Determinism” 67 “%a1 aiR el fgfare” @ wfoues o —
was - o
(1) E. Huntington (2) E.C. Semple Nx @ =¥ s
(3) Griffith Taylor (4) L. Febvre (@) fifper SR @) T Har
(5) Question not attempted (5) argaRa ueA
68. If the statement of scale is 1” = 2 Furlongs, then ~ 68. If§ HUMTHS AUF 17 = 2 BT B I &,
what will be the R.F.? < gfaffer =1 (R.F.) 8 —
(1) 1:16000 (2) 1:14000 (1) 1:16000 (2) 1:14000
(3) 1:15240 (4) 1:15840 (3) 1:15240 (4) 1:15840
(3) Question not attempted (5) srgailRa ue=
69. In India, thematic maps are prepared by - 69. yRa #, fvyes Ml fove g’ AR oy
(1) Remote Sensing Agency, Hyderabad S &7
(2) Thematic Mapping of India (1) Rare W @fﬁ ?ﬁ‘\’ﬁﬂ‘q’
(3) Survey of India ) i A it gRean
(4) NATMO ) LU
(4) STed (NATMO)
(5) Question not attempted (5) sraRa T
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70.

Which among the following is/are correctly
matched?

Theory of Delimitation - Propounder
of Umland
(A) Interaction Model - H.C. Carey
(B) Law of Retail Gravitation - P.D. Converse
(C) Breaking Point Theory - Reilly

Select the correct answer using code given
below -

Code -

(1) Only (A) (2) (A)and (C)

(3 (A),(B)and (C) (4) (B)and(C)

(5) Question not attempted

70. feprforiRae # | e /¥ gaford & /87

VS D HHIBT — yfourgs
&1 fagia
(A) 3r=:fehar dtea — AL B

(B) BeaR oyl A — WSl biFad
(C) 3rerma foeg fagia Gl
I 3T T HE FH IUEET X WL SR BI

TG PHIIg —

@ —

(1) Baa (A) (2) (A) TaT(C)
() (A), B)TaT(C) (4 (B) TAT(C)
(5) srgaia g

71. According to Weber’s Least Cost Theory, the = 71- 9% & 5o @NTd Rigid & 39R, "5/ a0
formula of ‘Labour Cost Index’ is - Gabih B G & —
(1) Total weight of raw material + Labour cost (1) = 9=1f o1 HoI IR + 59 ARG
(2) Total weight of product + Labour cost () safed aw] &1 o R + 5@ ARG
(3) Labour cost + Total weight of raw material @) s/ amTd + B geTd BT Bl R
(4) Labour cost + Total weight of product (4) s AT + ST a%] &7 | R
(5) Question not attempted : (5) srgaiRa U

72. Which of the following Geographer/s is/are 72 fymifoRad & @ @M@/ iiees

=== associated with the Principle of THHUdEE 3 Rigid 9 gafda & /&?
Eﬁg Uniformitarianism? g i

(A) Hutton? ®) &
(B) Playfair
(C) Lyell (C) i
Select the correct answer from the code given A 3T U He | |E SR BT IIT BT —
below - e — ,
((':;]d(eA-) and (B) only (2) (A) and (C) only i), B e ()
(3) (A),(B)and (C) (4) Only (A) @ &), B)TN(C) @) DI (A)
(5) Question not attempted (5) FFART HF

73. Which among the following races are having 73 SoR & IWR, fmfoRad & & SF=eT wofaat
cephalic index more than 75 as per Taylor? 75 9 31t R gadis @ 87
(A) Nordic (A) FifE®
(B) Negrito (B) TRer
(©) AusFralmd (©) a‘ﬁ@?—ﬁa@
(SI;l)eitlIg::eecorrect answer from the code given (D) StearE
el ¢ Al AT Y de | Wl SR B TIT DY —
Code - o —
(1 (A),(B)and (D) (2) (A)and (D) (1) (A), (B)Tem (D)  (2) (A) T (D)
(3) B),(C)and (D) (4 (C)and (B) (3) (B), (C) T2 (D) (4) (C) T2 (B)
(5) Question not attempted (5) eﬂﬁﬁﬁ g
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74. Which among the following statement is correct 74 ¥—dge /FARAfT & de¥ # fFr=feriaa & 4

regarding isostasy? BT HUF T 27

(1) Pratt’s theory was based on Law of (1) e @1 s <@ & 99 9= meRd o |
Floatation. @ v Yc B T 3 IR BRRFT @

(2) During A. Pratt’s survey, the gravitational SRAMR & 4@ Todby § AR 10
deflection between Kaliana and Kahanpur Jdve 3 3D o)

5 was above 10 seconds. 5 : @) T e B W & R SREET 9
During A. Pratt’s survey, the gravitationa m WZFQLUT S
deflection between Kaliana and Kalianpur U Eﬁj Qj:a g1
was below 10 seconds. 8

(4) Pratt postulated that ‘Bigger the Column @) ¥e @ N w A ST

postulated tha gg :
Greater the Density’. B, B S SHfe g
(5) Question not attempted (8) srgefe we
75. Match List-I with List-II and select the correct 75 J@—| &1 FAI-II $ |F FAferd Y R A
answer from the code given below — fer v o ¥ gEl SR BT AT BN —
List-1 |
(Type of Faults) e EHT & UPT)

(a) Sinistral Fault [ﬂ (a) ﬁlﬁ?ﬁﬂ e

(b) Reverse Fault (b) gohH ¥

(c) Normal Fault (c) WM™ 49

(d) Dextral Fault (d) Sedge 4w

List-IT -
(Displacement of Rock blocks) @ Tvel &1 faveE)

(i) In opposite direction (i) fousa feem #

(i) Occurs to the left side of the fault plane (i) ¥ T B I} 3R BT °

(iii) Towards each other (iii) TP TN & A

(iv) Occurs to the right side of the fault plane (iv) ¥ 91 © ST R BT &

Code - He —

(1) (@)-(iv), (b)-(iii), (c)-(i), (d)-(ii) (1 (a)-(iv), (b)-(iii), (c)-(i), (d)-(i1)

@) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv) (@) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

@) (a)-(v), (b)-(i), (c)-(iii), (d)-(ii) @) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

@) (a)-(ii), (b)-(iii), (c)-(), (d)-(iv) (@) (a)-(ii), (b)-(iii), (c)-(1), (d)- (lV)

(5) Question not attempted (5) IrxiRd ue

76. Currents produced by a tide while passing 76 WOR gRT IU~ YRIU T4 SloleH®H 3fqd]
~ through a Strait or Gulf is known as - @Rl § okl &, Al Sl oIl & —

(1) Tidal Volume (2) Tidal Bulge (1) SER™ maad (2) 9™ S9R

(3) Tidal Race ~ (4) Tidal Range (3) SR e @) e 3o

(5) Question not attempted (5) SrgxIRa uee

77. Maximum area of district Bharatpur and Alwar 77 “RAQY Td 3fcfax o7l &1 =Afdaer 9rT fobe

lies between which isohytes? |Hayt ¥ERl o 7y Red 27

(1) 600 — 700 mm (1) 600 - 700 fAeiHIex

(2) More than 800 mm - (2) 800 fHeiMIeR & 3rftrd

(3) Less than 600 mm (3) 600 fAciiiier & &9

(4) 700 — 800 mm (4) 700 — 800 faci™ex

(5) Question not attempted (5) {-'ﬂﬂ?[ﬁﬂ SEC
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78. Which one of the following states receive flood 78 f=feiRaa # 4 b v & |yt # a1 M
during winters? “rPr ©°
(1) West Bengal (2) Kerala = (1) of¥Ew T (2) axa
(3) Andhra Pradesh  (4) Tamil Nadu (3) 3T U 4) dfeTg
(5) Question not attempted (5) rgaRa uee
79. Who said, “The use of soil for house and roads 79 f&a ®8l, "M 3R Hshl & fov AL @
is unproductive”? : YN JUTED 87
(1) Vidal de La Blache (2) E.C. Semple (1) fasre S o = (2) S J9a
(3) F. Ratzel (4) Jean Brunhes (3) uw. Yeord @) S gTew
(5) Question not attempted (5) IrgaRa weA
80. As per Weber, a line of equal transport costs for ~ 80. JaR & AR, fawdt ¥t arel a1 ST 8g w9
any material or product is called - Ress SrTd &1 @1 dEard 8 —
(1) Isodapane (2) Location-Triangle (1) amsHreTUA (@) saRefa—fErw
(3) Critical Isodapane (4) Isotim (3) mif<a® 3gars+ (4) Igaifed
(5) Question not attempted (5) argaRa ye
81. Which of the following group of places of United ~ 81- ®gaa vwg spiRa & ffafad & & b=
States of America is known for private ship ©HEl &1 998 o &9 # e fAEfr
building and repairing Industry? AT e & oIy SHT ST 87
(1) Atlanta, Iowa and Maine (1) veaier, 3rAaEr qem 39
(2) Wyoming, Utah and New York (2) =fa, ger gon =piie
(3) Virginia, Connecticut and Mississippi (3) guitf~ar, s-fdeae qur AR
(4) Oregon, Montana and Florida (4) 3NE, HierT a2l FeRer
(5) Question not attempted (5) srgaRa U
82. Which of the following are the subject matter of ~ 82. ffoiRaq # & P ywe@e A @
Positivism Geography? fawgawg €7
(A) This is also called empiricism. (A) 39 IATHIaTE W HET ST © |
(B) It is the antithesis of idealism. (B) I aTeeare &1 farneft 2
O It \;as founded b}f Al:lgu_ste‘Comte. (C) ST T NS B @Y o |
g)o)dI; : pposes authoritarianism. (D) T8 RFTIFaTE BT RN BT 2 |
1 2) RE — :
- Eg; Gt ok il (1) (A), (B),(C)3R(D)(2) (A)3MR(C)
(3) (B)and (C) (4) (B), (C) and (D) @ (B) 3R (C) 4 (B), (C) 3R (D)
(5) Question not attempted (8) srgafe oo
83. The “red face” of the Green Revolution refers 83 gRd wif~d &1 ‘ofrel F@eT Hafid & —
10~ (1) Prerral & s FIrT |
(1) excessive use of pesticides (2 Trfor &5 A T ) weel ¥ ofy @
:2) increase in violence in rural areas (3) uffy ¥ T B T Y
3) the problem of salinity in the soil _ :
4) incrgasc in productiorf of wheat & 75 il ¥
(5) Question not attempted (8) srgafa we
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84. ‘Mahogany trees’ are found in which of the 84 ‘WER ger fym=ifeiRed # & f59 UBR & o

following type of forest?

(1) Tropical deciduous forest

(2) Tropical evergreen forest

¥ U g &7
(1) Swiepfea<ig goigmw a=
(2) Swrhfea=ig AgEER a4

(3) Mountainous forest (3) uddg o=
(4) Mangrove forest @) g g9
(5) Question not attempted (5) IR T
85. Apart from Weber, which other Geographer 85- qav & aifaRew, 3 fava *iTetd<r =1 =N
presented locational triangle for industrial saRefy & for) saRafa Bre wxga fFar?
location? () 5o 2) Rae
(1) TIsard (2) Smith G S ek
(3) A. Fetter (4) Hoover :
(5) Question not attempted (5) TRk e
86. The rocks of the Hamada desert region of 86. G & THRT HAORC YW &I e
Rajasthan belong to which of the following frr=fafRag & 9 fog nq;rrﬁi-cﬁ BT Pl &7
geological periods? (1) Sy 9 el s
(1) Cambrian and Ordovician Periods (2) TG T g e
(2) Carboniferous and Permian Periods @) sl L
(3) Oligocene and Miocene Periods
(4) Jurassic and Eocene Periods () fRFe 9 I e
(3) Question not attempted (8) argeiRa e :
87. Which among the following are the demerits of 87 wRd # gRa wifd A refafed ¥ § B
Green Revolution in India? Hfar €7
(A) Inter-crop imbalances (A) IR-FH AT
(B) Regional isparities | E"ﬁg (B) &1 STHHIATY
(C) Unemployment - 14 (C) SRISTTNT
(D) Increase in interpersonal inequalities (D) UREIRG SrFAMT A q@r
Select the correct answer from the code given IR AL ac ¥ A W IR B A
below - s
Code - =
(1) Only (A)and (B) (2) (A), (B) and (D) (1) &3 (A) T (B) () (A), (B) T (D)
(3) (A),(B)and (C) (4 (A), (B), (C) and (3) (A), B)TT(C) (A (A), (B), (C) =0
| (D) - (D)
(5) Question not attempted (8) argaiRe e
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88. In Fenneman’s “Circumference of Geography”  88. Gie & " o gRfY § FEfeRed § 9
which of the following was not included? HITar AftAferd T8 or? :
(1) Biology (2) Geology (1) Sie—fasm (2) y—fasm
(3) History (4) Physics () sfosm™ @) Wifaat
(5) Question not attempted (5) srgaRa ue
89. As per Von Thunen’s theory, the profit of a  89. df @9 & Rigid & SR, & fHaM &
farmer depends upon which of the following o frrefaRad & 9 = o=t o= finfR @war 27
variable.s? . . (A) T FT Risg e
(A) Selling price of commodity
- (B) Production cost (B) SR T <A
(C) Transportation cost (C) uRaeT B AT
(D) Labour (D) #1
Select the correct answer from the code given I Ry Y g ¥ FE SR BT 99T B —
below - T —
fode- - (1) (A),B)TIT(C) (2) Baa (A) 7= (C)
(1) (A), (B) and (C) (2) Only (A) and (C) e B)TC) @ (A), (B), (C) TN
(3) Only (B)and (C) (4) (A), (B), (C) and 3 )
(D) : (D)
(5) Question not attempted (8) srgeiRa we
90. Which one of the following is a characteristic of ~ 90- 3=y ggHT # f=foRad §.9 9 &
igneous rocks? faeryar urft o 27
(1) Fossils (2) Exfoliation (1) Siarg| (2) 3Teren
(3) Layers (4) Crystalline (3) uxd (4) 3deR
(5) Question not attempted (5) aﬂﬂﬁﬁ ueT
91. Ideal condition/s for radiation temperature 91 Y B F fAfbRUr AT GepHY B s
inversion during night is/are — ..., Refdsrcdt2/g -
(A) Clear sky £LE (A @ e
(B) Cold dry air (B) T I Iy
(C) Windy night (C) T &4T aTell T .
Select the correct answer from the code given I iy w1y ®e q 9E faFwew & Tue
below - DIIY —
Code - &ac — :
(1) (A) and (B) are correct (1) (A) e (B) W& 8
(2) (B) and (C) are correct (2) (B) <o (C) wel €
(3) Only (C) is correct (3) daad (C) W& &
(4) Only (A) is correct (4) ®aa (A) T 2
(5) Question not attempted (5) 3rgafRa ueA
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92.

93.

94.

95.

96.

Match the following Scholars according to their
respective Books and select the correct answer
from the code given below —

List-I (Book)
(A) An Outline of Geomorphology
(B) The Unstable Earth
(C) The Surface History of the Earth
(D) Earth’s Dynamic System
(E) Principles of Geology

List-1I (Scholar)
(D 1. Joly
(II) J.A. Steers
(III) Wooldridge and Morgan
(IV) G. Waters and Woodford
(V) W.K. Hamblin
Code -
(1 (A)-(D), (B)-(I1D), (C)~(D), (D)-(V), (E)-(IV)
(@) (A)-(1D), (B)-(ID), (C)-(D), (D)-(V), (E)-(IV)
(3) (A)-(1V), (B)-(D), (C)-(D), D)~(V), (E)-(1II)
(@) (A)-(TID), (B)-(ID), (C)~(D), (D)-(IV), (E)-(V)
(5) Question not attempted

Which among the following is not associated
with influence area of city?
(1) City Region (2) Urban Hmterland
(3) Central Business (4) Umland

District (CBD)
(5) Question not attempted
The districts included in the Agro-Climatic
Region I1I-B of Rajasthan is -

92.

frefoRea fagmi &1 s 19 wwfam gws
:%ﬂw gAfera a?ri%w qe ?ﬁ%‘r fay T He &
ﬁg}l BT T PTG )
—1 (T
(A) TF ATSTASH i RrHidicton
(B) T 3rcaat 3k
(C) T 9wy R it 7 e
(D) <red SRS RieeH
(E) fRfue affe forareton
g1 (fAg™)
() . Sfelr -
n siu ?auﬁw
(In) gfesst Us
(Iv) ST, ared U8 gewis
(V) S=g&. eftcr
ﬁ s
(1) (A)-(ID), (B)-(IIT), (C)~(D), (D)-(V), (E)-(IV)
(2) (A)-(IID), (B)-(ID), (C)-(1), (D)-(V), (B)-(IV)
(3) (A)-(1V), (B)-(ID), (C)-(D), (D)-(V), (E)-(1IL)
(4) (A)-(II), (B)-(1D), (C)-(1), (D)-(IV), (E)-(V)
(5) rg<iRa v

-ﬁﬂﬁlﬁaﬁﬁﬁﬂﬁﬂ'ﬂw?ﬁwéﬁ@l

TfRaa T8 87
(1) TR Y (2) TR gouey
() BT AIRE  (4) TS
f3Telr (CBD)
- (5) SrgaRa yeA

(1) Alwar, Bharatpur, Dholpur Eops
2 . . A E‘_agm e 5
(2) Bhilwara, Rajsamand, Chittorgarh 1594

(3) Kota, Jhalawar, Baran
(4) Jaipur, Ajmer, Dausa
(5) Question not attempted
Which one of the following (Book - Author) is
not correctly matched?
(1) Air power : Key to Survival — D. Seversky
(2) Development in Political Geography —
A. Burnett
(3) The Corridors of Time — H.J. Fleure
(4) The New World — Isaiah Bowman
(5) Question not attempted '
“The isolated regional economy gave birth to the
Genre de vie.” This statement was given by -
(1) Humboldt (2) Blache
(3) Hartshorne (4) Ritter
(5) Question not attempted

95.

96.

. YR & PH—Teldry Yo 1II-B H AfFfera

et € —

(1) TR, AR, HielgR

(2) Hrerare, wowHe, RRISTE
(3) @ler, ATErS, IRI

(4) STUQR, 3ITR, ST

(5) 3RS U
Wﬁam(w—m)@m
P a7

(1) TR UIR : & T Falgdedl — S Haxwd!
(2) Sgeodie g difefedrd SITH — U 99 ¢
(3) T HIRSK 3% TFH — TAS. TR

(4) T = Ic8 — MR AW

(5) Srg=iRa ued

“ThTH! ST IFTARAT TR ST @Y B T el
21" U8 HYe far o —

(1) gEE (2 =m
(3) srew 4) Rex
(5) JgaiRa g
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97. In which census year, information on causes of

98.

99.

100.

101.

102.

103.

104.

migration was included in India?

(1) 1981 (2) 1971

(3) 1961 (4) 1881

(5) Question not attempted .

Calculate the Standard Deviation for the
following values and select the correct answer -
01, 03, 05, 07, 09

(1) 2.38 (2 2.03

(3) 2.53 (4) 2.83

(8) Question not attempted

‘Radiosonde’ instrument is associated with -

(1) the study of surface of the Earth

(2) the study of interior structure of the Earth
(3) the study of atmosphere

(4) the study of ocean

() Question not attempted

Which of the following districts of Rajasthan had
the highest per hectare production of Jowar in
2022-237

(1) Rajsamand (2) Karauli

(3) Bhilwara (4) Chittorgarh

(5) Question not attempted

Mangalam Cement Limited is located in -

(1) Modak (2) Bhiwadi

(3) Dholpur (4) Alwar

(5) Question not attempted

Von Thunen’s Agricultural Location Theory is -
(1) Idealist and Indeterminist

(2) Indeterminists and Mechanics

(3) Empirical and Normative

(4) Deterministic and Normative

(5) Question not attempted

“Human Geography is the study of changing
relationship between unresting man and unstable
Earth.” Who said this?
(1) Ritter :
(3) Ratzel (4) Taylor
(5) Question not attempted
Write the correct sequence of main cities of
Trans Canadian Railway from East to West -

(1) Halifax - Quebec - Winnipeg - Vancouver
(2) Vancouver - Winnipeg - Quebec - Halifax
(3) Quebec - Halifax - Winnipeg - Vancouver
(4) Halifax - Quebec - Vancouver - Winnipeg
(5) Question not attempted

(2) Miss Semple -
=12

97.

98.

99.

100.

101.

102.

103.°

104.

ﬂﬂaﬁgamzﬁwﬁq?waﬂwﬁmﬁm
ST 99 # fasar Trr?

(1) 1981 (2) 1971

(3) 1961 (4) 1881

(5) sraRa ue

F=ifea 9m1 & v a9 REem &) 7o
PINTY U I IR BT TIT BT —

01, 03, 05, 07, 09

(1) 2.38 (2 2.03

(3) 2.53 (4) 2.83

(5) rgxiRa ue

RfSAS’ SuavvT Hefea & —

(1) godl & eRTEeT & rFTd |

(2) gedl & A<IRS HEAT & FeqAT J

(3) grgHYES & AT |

(4) wHg Seugd |

(5) 3=k g

fFefafad § 9 2022—23 # <oReE @ b4
STl @1 9 TR TR & ScEHar waifts

off?

(1) Ioa< (2) P

(3) Hrerarer @) feriteTTe
(5) Sr<IRT we

HiTem Hie fefics smaferd & —

(1) Arsa ¥ (2) faare) 4
(3) dieyr # (4) srerar #
(5) argaRa T

a9 og=9 3T Y raRerfa Rigia & —

(1) aesiardy gor sifvagar)

(2) rfrezard aon i3

(3) srgufds der AFHR

(4) feemard) Ton P

(5) 3rgaRRa wed

HIHG e AReR Yol AR fhamefiar Ara &
dra uRadeie Gwa=il &7 3feag= 2| I8 H2H
T 87

(1) Rex (2) %, Je
(3) Neua @) TR

(5) argeiRa u=A

uf¥ed Pl 3R FE g ford —

(1) Bferbad — REgd — AT — dgr
(2) doHEr — AT — ®EE — e

(3) Ty — efombad — AT — dqHaR
@) e — Fgdd — Faax — fafoer
(5) xR we= -
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105.

, 106.

107.

108.

109.

Which wavelength/s of electromagnetic
spectrum is/are used in remote sensing?

(A) 0.03 - 0.2 nanometer

(B) 0.4 - 0.7 micrometer

(C) 0.1 - 30.7 centimeter

(D) 8 - 14 micrometer

Code -

(1) (A)and (D) (2) (B), (C) and (D)

(3) (A)and (B) (4) Only (B)

(5) Question not attempted

From Mackinder’s book, which Geographer took ___
£

the word ‘Heartland’?

(1) A.T. Mahan (2) James Fairgrieve

(3) Karl Haushofer ~ (4) Rudolf Kjellen

(5) Question not attempted

Which of the following (Indian Geographer -

Main Field of Study) is not correctly matched?

(1) S.M. Ali - Historical Geography

(2) R.N. Dubey — Economic and Commercial

Geography

(3) George Kurian — Geomorphology

(4) S.P. Chatterjee — Physiographic :
Regionalization of India

(5) Question not attempted

The term ‘Swidden agriculture’ is related to -

(1) Livestock farming

(2) Plantation agriculture

(3) Shifting agriculture

(4) Mixed farming agriculture

(5) Question not attempted

Given below are two statements, one is labelled

as Assertion (A) and the other as Reason (R).

Assertion (A): Anomaly is found between

geographical and magnetic north
of the Earth.

Reason ‘R): Variation is found in magnetism of

igneous rocks of different period.
In the above context, which one of the following
is correct?
(1) Both (A) and (R) are true but (R) is not the
correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).
(3) (A)is false but (R) is true.
(4) (A) is true but (R) is false.
(5) Question not attempted

105.

106.
| 9

107.

108.

109.

R Hagd H faga gee Wagd @ fed
TR BT YA fHar Srar & /&7

(A) 0.03 - 0.2 ¥R
(B) 0.4 - 0.7 WIgshHIex
(C) 0.1 - 30.7 HEHeR
(D) 8 - 14 ATgHMIE
He. —

(1) (A) 3R (D)

(3) (A) 3R (B)

(5) srgailRa ye=
AfPprey o TP F f6d Pheadr 7 'geg a7
vreg forar?

(2) (B), (C) 3R (D)
(4) ®a< (B)

(1) vdl 189 (2) =g Bafg
(3) Pt SrEHR (4) TSP Boloid
(5) srgRa T

frfaRea § @ @9 (Rd™ spEerdar —

T B WG &) FAfera TE 87

(1) Ta.gH. srelt — VfoeRie e

(2) aRTA. g9 — e Td afTF e

(3) Sifst BRIT — i fagm=

(4) TaY. Teoll — IR BT WrMfere e iieaRor

(5) 3raRa v

Ras B vrg &1 I 8 —

(1) ugure SN |

(2) I By |

@) rERET P A

@ fafa iy 9

(5) aﬂﬁﬁﬁw :

= ] Fo Ry W € v B B (A) &R

TR B PR (R) P Y H IR T 2 |

DU (A): G B AHMNTD AR FIHI IR B
9 fagafa urg o 2 |

SR (R): A= &1 &7 3= 9= 1 &
g # ftar o o 2|

?WWﬁ,ﬁﬂﬁﬁlﬁﬁﬁWWﬂ@

?

(1) SFF (A) g1 (R) @& & @fda (R), (A) B

He! IR T8 2 | |
(2 IHF (A) T (R) W& & TAT (R), (A) B
e AR 2 |
(3) (A) TTeId & oIfpT (R) 98T & |
(4) (A) TS ' ofT (R) ToId B |
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110.

111.

112.

113.

Which of the following surfaces has Albedo
below 20 percent?

(1) Dry earth and grass

(2) Fresh snow and thin cloud
(3) Wet earth and forest

(4) Old snow and thick cloud
(3) Question not attempted

Who wrote the book, “Mainsprings of
Civilization”?

(1) Humboldt (2) Ratzel

(3) Huntington (4) Ritter

(5) Question not attempted

Which of the following theory/model is based on
Geomorphic threshold and complex respdnse
concept?

(1) Episodic Erosion theory

(2) Composite model

(3) Dynamic Equilibrium theory
(4) Tectonic -Geomorphic model
(5) Question not attempted

P. Sengupta and Galina Sdasyuk divided India

~ into how many major resource regions?

114.

(15 (2 6
(3) 7 @ 9
(5) Question not attempted

Which one of the following pair (Ocean - Island)
is correctly matched?

Ocean - Island
(A) Atlantic - Fiji
(B) Arctic - Bear -
(C) Indian - Kerguelen
(D) Pacific - Guam

Select the correct answer from the code given
below -

Code -

(1) (A), (B), (C) and (D)

(2) (A), (B) and (D)

(3) (B), (C) and (D)

(4) (A) and (B)

(5) Question not attempted

LT
rPr
"z'!-:

110.

111.

112.

113.

114.

frforRaa # 9 fa \ag &1 vfeast 20 ufdea
¥ $H BIAT 27

(1) I 94 vd 99

(2) Tror 249 U faver 9ree

(3) 7 4 vd o

(4 QR 29 vd |ue 9ed

(5) SrgxiRe we
=ERdT B o7

(1) g4I (2) Yeoa
(3) gfewres (4) Rex
(5) SrgaiRa ue

fFre=foRaa & & s Rigia /dsa warpfos
AT g SIfea ufafshar &1 Hheudr uR amenid
2?7

(1) EvsaIfers e Rigia

(2) sfasr Afsa

(3) e Ao Rigia

(4) fyad sarplie Atee

(5) sraRa T
Y. YT AT T FERYE A AR Bl e
IS AR Yo H favad fear or?
Mms 2 6
(3) 7 4 9
(5) SR uz
fr=fofed & & s g™ (FemrR - g)
gHferd 87?
wETR  — g
(A) Tedifed —  foboll
(B) Mbflcds — W
(GRS — BT
D) uerd — TR
T 3T Y g ¥ |E SR BT g DY —
az\?_

(1) (A), B), (C) W@ (D)
(2 (A), (B)Td@ (D)

(3) (B), (C)Wd (D)

(4) (A)Td (B)

(5) argalRa weA
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115.

116.

117.

118.

Match List-I with List-IT and select the correct
answer from the code given below -

List-I List-II
(Regional Trade Group) (Member Country)

(A) ASEAN (1) Azerbaijan
(B) C.LS. (i) Brunei
(C) NAFTA (iii) Peru

(D) LAIA (iv) U.S.A.
Code -

(1) (A)-(ii), (B)-(i), (C)-(iv), (D)-(iii)

(2) (A)-(iv), (B)-(iii), (C)-(i), (D)-(ii)

(@) (A)-(iii), (B)-(iv), (C)-(ii), (D)-(i)

@) (A)-G), B)-(ii), (C)-(iii), (D)-(iv)

(5) Question not attempted

Which of the following group of states recorded
decadal population growth rate below 10% as
per Census 20117

(1) Kerala and Sikkim

(2) Himachal Pradesh and Sikkim

(3) Goa and Punjab

(4) Goa and Kerala

(5) Question not attempted

Arrange the following approaches in
chronological order and choose the correct
option using the code given below -
(A) Areal differentiation

(B) Spatial organisation

(C) Exploration and description
(D) Regional analysis

Code -

(1) D)-(©)-B)-(A)

(2 (B)-(C)-(D)-(A)

@) (©)-(D)-(A)-(B)

@ (A)-(B)-(C)- (D)

(5) Question not attempted

Which of these is an Equal Area Projection?
(A) Polyconic

(B) Bonne’s

(C) Sinusoidal

(D) Polar orthographic

Code -

(1) (B) and (C) (2) (B) and (D)
(3) (A) and (C) (4) (A)and (D)

(5) Question not attempted

nY,

115.

116.

117.

118.

-1 B G-I § Fafera HIRTT Fem =
QT T e | W& S T AT HR -
-1 -1

R @R wiE) (e )

(A) 3T (i) SToNEwH

(B) ¥.3MS.T9. (i) g8

(C) AT (iii) I

(D) wrgan (iv) HgFT I
3MR®T (U.S.A.)

a;e gl

(1) (A)-(ii), (B)-(i), (C)-(iv), (D)-(iii)

(2) (A)-(iv), (B)-(iii), (C)-(i), (D)-(ii)

() (A)-(iii), (B)-(iv), (C)-(ii), (D)-(i)

(@) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)

(5) argaRa W

STVET 2011 & Ig9R, Ffafead § 9 fba
RISl H SR TEET gy o) 10 wiowe 9§
%Y 3ifdd gg7 _

(1) B 3R fufdes :

(2) fewmaer wewr 3R fifdesa

(3) Trar 3R goe

(4) Trar 3R BN

(8) Iz e

fr=feiad Summl &1 @omE B aER
eaRerd o iR i Ry T ae 3 9 e
BT TIT BN —

(A) &3 faves

(B) ®@rfee Gire

(C) 39T 3R feaamor

(D) Uref¥re faweryor

a-;c\? _—

(1) D)-(C)-(B)-(A)

2 (B)-(C)-(D)-(A)

@) (C©)-D)-(A)-(B)

4 (A)-(B)-(O)- (D)

(5) SR W

STH W PIF9T GHEE Yy 27

(A) IgIRD

(B) a4

(C) wrggdrgsa
(D) gdra eI
E“E —

(1) (B) T4 (C)

B) (A)TI(©)

(5) argaRa we

(@) (B)wd (D)
4) (A) T (D)
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119.

120.

121.

122,

123.

World map of Claudius Ptolemy was drawn on
which projection?

(1) Modified Conical

(2) Cylindrical Equal-area

(3) Polyconic

(4) Cylindrical Equidistant

(5) Question not attempted

Which of the following book’s approach  is
deterministic?

(1) Principes de Géographie Humaine

(2) Anthropogeography jﬁ_‘a'i
(3) Geography and the Social Science Eﬂf
(4) Geographical Introduction to History

(5) Question not attempted

Wentworth scale is related to -

(1) Tidal range

(2) Wind velocity

(3) Hardness of rocks

(4) Grain size of sediments

(5) Question not attempted

Banjari and Laxmi of Jaipur district are mining
areas/mines of -

(1) Mica (2) Silver

(3) Gypsum (4) Dolomite

(3) Question not attempted

According to Thornthwaite’s, which climate
does the shaded area in the given map represent?

119.

120.

121.

122.

123.

Foifead ciodl &1 fdvg 9= fda ueg o
9T T o977

(1) F9fea IE@EHR

(2) 9eFTHR GH SABA

(3) TgigER

(4) JeTPR HHERA

(5) Srg<iRe uz

ffaleg & 9 59 gwa &1 gfeam
freeardy 27

(1) R € S ggh

(2) TS

(3) ST TUS § A HISd

(4) sarnfhed SEeeH < B

(5) sraRa T

J=gef AP FHET & —

(1) =R ¥ 9

(2) ggq 9T |

(3) ggMi o HoRar | :

(4) gaTBe B FUI B MPR I

(5) argeIRa e

g el @ dom qen dedt weE &5/ EH
g — :

(1) 3 a1 (2) =rsY &1

(3) foroas & (4) SremTSE B

(5) araARa W

offerde & SUR, f3y T AFRE # Brifbd
&7 e Soary &1 yslRia exar &7

(2) CA'w
(4) EA'd
(5) Question not attempted

(1) DA'w
(3) DB'w

(1) DA'w 2) CA'w
(3) DB'w (4) EA'
(5) srgaife g
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124,

125.

126.

127.

128.

129.

“A race means a breed, not culture”, who among
the following stated this?

(1) A.R. Kroeber (2) G. Taylor

(3) Vidal de 1a Blache (4) A.C. Haddon

(5) Question not attempted

Off-shoring activity is related to -
(1) Tourism (2) Transport
(3) Space (4) Data processing

(5) Question not attempted

Who among the following Roman Geographers
largely contributed in Physical Geography?

(1) Strabo (2) Firmanus

(3) Polybius (4) Solinus

(5) Question not attempted

Which is suitable for prediction of weather?

(1) Median (2) Standard Deviation
(3) Mode (4) Mean

(5) Question not attempted

Which of the following is not associated with the
science rules fixed by the ‘Vienna Circle’
scientists?

(1) Knowledge must be value free.

(2) There should be a compulsory testing of a
hypothesis.

(3) Facts are supported by empirical evidence.

(4) Knowledge should be
metaphysics.

(5) Question not attempted

Consider the following statements and select the

correct answer from the code given below -

(A) In mountainous region, winds move
upslope during day time.

(B) Water in sea gets heated by sun rapidly than
adjacent land.

(C) Downward movement of wind  in
mountainous region is known as ‘Valley
Breeze’.

Code -

(1) (A) and (B) are correct

(2) Only (B) is correct

(3) Only (A) is correct

(4) (A), (B) and (C) are correct

(5) Question not attempted

mixed wit
E:T:

L)

124.

125,

126.

127.

-128.

129.

"IN T BT Ube HRal 8, 7 b agar 1,

7E ®oF fAfefad § 9 feder 87

(1) TIR. PIEx (2) Y. TR

(3) faere S of =g (@) TH. BT

(5) srgRa W

Ifp—anfar wfafafy wwfa & —

(1) wieq (2) gRags &

(3) arafer ¥ (4) 3iTHST BT URAEHRT.
Kl

(5) SrgeIRa wed

fFrefaled I pedaeil § | feae
AT iferepiere: Wifcres e # er?

(1) war (2) A=

(3) dfefifeas @) wfema

(5) SrgeiRe wes

A @1 wfasrarf & forg Suged & -

(1) =T ) 799 fage=

(3) TgT® (4) Wz

(5) SraRa we

fr=faRed # oar ‘faar 9@a el &
fReifRa fasm fFrasl @ e =& 27

(1) M o7 gaa B A1y |

(2) gRepegm &1 e et w9 F BT
=118y | :

(3) T argwIfde wedl | waRiT B E|

(4) o TeEHENET | gad BT ARy |

(5) srgaRa wed

ferfaag seMl W IR HiSe qer A Ry

TC FHE | WE IR BT F97 PG —

(A) Uddia a3 A R & 999 9ad SuR @
3R THA B! B

(B) §H% &1 UMl G ERT U+ fAdeadt &=
BT e A Aol I 19 Brar B

(C) uddhia &= & g & = &) IR & T8
B O AR P B | ‘

'ﬁg‘\a_

(1) (A) T2 (B) @& &

() @aer (B) TR B

() oae (A) TR '

@) (A), (B)Tem (C)Her &

(5) sralRa w1
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130.

131.

132.

133.

-134.

135.

136.

As per Koppen’s Climatic Classification, mid-
latitude wet and dry climate with cold winter has

been symbolized by -
(1) Cw (2) Df
() Cf (4) Dw

(5) Question not attempted

In Thornthwaite’s 1948 Climatic Classification,
Potential Evapotranspiration (PET) is calculated
from -

(1) Mean annual temperature

(2) Mean maximum monthly temperature

(3) Mean monthly temperature

(4) Mean monthly precipitation

(5) Question not attempted

The Department of Soil Survey in India was
established in -

(1) 1953 (2) 1954

(3) 1956 (4) 1960

(5) Question not attempted

Balaghat manganese producing belt is situated in
which of the following states of India?

(1) Odisha (2) Madhya Pradesh
(3) Chhattisgarh (4) Jharkhand

(5) Question not attempted

Which of the following rivers is not a tributary
of Banas?

(1) Berach (2) Kothari

(3) Morel (4) Moren

(5) Question not attempted

According to Census 2011, in which district of
Rajasthan the Rural and Urban sex ratio is
highest respectively?

(1) Bhilwara — Chittorgarh
(2) Dungarpur — Pratapgarh
(3) Rajsamand — Banswara
(4) Pali — Tonk '
(5) Question not attempted
Clouds that are usually formed either by loss
of heat or by the mixing of air masses with
different temperatures, are -

(1) Nimbus clouds (2) Stratus clouds

(3) Cirrus clouds (4) Cumulus clouds

(5) Question not attempted

130

131.

132.

133.

134.

135.

BT & ey THR0 & AR, Sl A
Fg B AR A TR ITE AT Y

Sterarg @ fhe ucfies & g9 T 87
(1) Cw (2) Df

(3) Cf (4) Dw

(5) er<iRa U

offfferde & 1948 & GIeldR] HIhRYT § HWred
o7 qrdiedoid (PET) © 0T &1 Il 8 —
(1) airga aiffe A |

(2) 3irad arferead ARYS daHE 3

(3) 3T =fe ATIHE o

(4) aiag =R auor |

(5) Srg<IRa we T

R H HaT FAETT fIMRT @Y A9 P9 g3 &P
(1) 1953 % (2) 1954 %

(3) 1956 ® (4) 1960 #

(5) gl we

qraTare S SATET US ARG B [Aeferiiad
3 9 frg g # Reg 87

(1) snfeem ‘ (2) 7 Y

(3) BRINTTS (4) ZIIRETs

(5) 3rg<iRd g%

frafafad 4 ¥ S 999 @1 UERE Tl
T8 87

(1) 99 (2) Ber

(3) AR 4) |9~

(5) srgailRa g%

SIATOT 2011 & 3R, mﬁfﬁﬁﬂﬁwﬁ
# HS: g 9 TR foRTuTa waits 87

. (1) fremarer - fxisTe

136.

(2) SRR — YawTE

(3) IoTHE — drEATST

(4) Urell — i@

(5) arg<IRe we

gredl ol 9T A1 d ST D g Al

JAT—3ATT YA R g4l SIHHT & 3Mad
A eN d9a9d 8 98 —

(1) g9t 79 (2) w7y
(3) wam HY (4) Hurl Ay
(5) srgaRa T
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137.

138.

139.

140.

Hellenic plate is located at -

(1) Alaska and nearby area

(2) Norway Sea

(3) Mediterranean Sea and nearby area
(4) Gulf of California

(5) Question not attempted

Which of the following is true about arithmetic
mean?

(A) Does not depend upon all values of a series.
(B) Suitable in correlation method.

(C) Obtained value is in both decimal and full
number.
Suitable for
percentage.
Code -

(1) (A) and (B) (2) (B) and (D)
(3) (B) and (C) (4) (A) and (D)
(5) Question not attempted

(D) studying proportion and

“Movement involves a change of residence for
substantial duration”, who among the following
stated this? :

(1) A.V.Perpillou (2) Berklay

(3) Donald J. Bogue (4) Clark

(5) Question not attempted

Which of the following is correct sequence of

mountain peaks of Aravalli in descending order

of height?

(1) Raghunathgarh, Nagpani, Hrishikesh,
Taragarh

(2) Hrishikesh, Raghunathgarh, Taragarh,
Nagpani

(3) Hrishikesh, Taragarh, Raghunathgarh,
Nagpani

(4) Raghunathgarh, Hrishikesh, Taragarh,

137.

T,
Tasas

138.

139.

140.

T @ie Reya & —

(1) IYTEHT AT ATHU & & F

(2) 94 AR |

(3) yHew AR TAT AU B &F H

(4) Bfermiftar @1 @S

(5) 3rgeiRe ue

=folReaa # 9 @9 GH=R 95T @ IR H°-
g 87

(A) FEen & ot 7F ) R =& g

(B) wedey fafYr # Sugad 7|

(C) U= 719 Seerd AR gt wer sl H B
=
(D) U iR wfrerd @ oreaas & forg Sugad
2 |
Wﬁc"’_
(1 (A)wa (B)
(3) B)Td (C)
(5) srgaiRa g
YT U TG ST B fov A e @1
ufRead wEermar 87, a8 b fF=fefead § 9
e 27
(1) ud. =R
(3) SFTIes . 9T
(5) 3rg<iRa wes
AefaRea & 9 aRmEe uda &1 =@fedi @

$AE & AR Hel gedl B § —

(1) RgARATe, AR, By, TRATG
(2) YDy, YRS, TRITG, AT
(3) FfDY, TR, YARATS, AT

(2 (B)vd (D)
@) (A)Td (D)

(2) g
(4) T

(4) YgARrTS, ®fey, m BINEIE]]

Nagpani (5) Sﬂﬂﬁa uIq
(5) Question not attempted
141. Which one of the following is not included in  141. fF=ifeiRad & & BT R—uSfg Rrrr vegs
non-projected teaching aids? |t #§ aftnfora =2 87
(1) Specimen (2) Transparencies (1) (2) g
(3) Diorama (4) Map (3) SrRM (4) w=fe=
(5) Question not attempted (5) 3rgaRa ye
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142. Which of the following is not the Basic 142.ff=falReqd # 9 ®FA ear ARFH @

143.

144.

145.

Assumption of co-operative learning?

(1) Students should be given opportunity to
work co-operatively in teaching-learning
process.

(2) Students can learn effectively if they involve
fully with learning process and helping each
other on learning path.

(3) Evaluation of learning should be measured
through achievement of each individual
learner.

(4) Evaluation of learning should be based on
what were the objectives framed for group.

(5) Question not attempted

Which of the following statement is not correct

about the social system of Concept Attainment

Model?

(1) The model is relatively structured.

(2) Students interaction is encouraged.

(3) The student controls the sequence of phases.

(4) The model has moderate structure.

(5) Question not attempted

A ‘teacher wants to apply Suchman’s Inquiry

Training Model in a class. What should he/she

does first?

(1) Ask students to memorize key concepts
before the lesson begins.

143.

144,

(2) Present a puzzling situation or problem andﬁ!gi
encourage students to ask investigatoryzg,g 7.

questions.
(3) Give a lecture explaining the content in
detail before allowing any queStion.
(4) Provide direct answer to student’s questions.
(5) Question not attempted
Which of the following step is not part of the
system approach in instructional design?
(1) Selecting random teaching methods
(2) Identifying objectives

- (3) Designing learning experiences

(4) Evaluating effectiveness
(5) Question not attempted

145.

IR AIAT 81 57

(1) Renffai <1 Rro—ftrm  ufkar #
fAagad & B B ADT kI
ey |

(2) fremeft T sreeh uapR & drEd € Wefe 9
U o ufebdr § @ RE W U qER B
HEANT $HRd Y AH g7 W) 9 |

(3) ferm™ @1 HeuieT UAS SMeRHEGAr B
SUAf} W) 4T ARy |

(4) AT BT Houwidd $H a1 W R E
1Y 5 TE & A SMENTH & 9T el
fReiRa 53 T o

(5) sr<iRa U

Ay Huftq Ufome &1 aHifeie yomell &

fawg & ffoaRad & & $IaT $oF |8l T8

27 '

(1) gfow srveda wREG © |

(2) femefi srrfbar &1 viemfea fFam omar 2

(3) et ==t & %9 o FatEa wxa

(@) wfow™ & e AR | |

(5) SrRa T

T et e H HIHA & JeaT R gfd

DI AR HRAT 18T & | I FaY Ygel a1 BRAl

Bl :

(1) & g &N 9§ Ul BTl DI g G
e TR B ol BT |

(2) vs wifed Rafd a1 qor Oxge BRAT 3R
BIE BT AYUTHAS T2 gB+ & ford URd
BT |

(3) fvasg & AR ¥ GHsIH drell ARA
ST 3R i BT &I U qB |

(4) BHE BT IT6 TAT B WY IR Y& BT |

(5) Sr<iRa U

ffeRaa # | srReTIoie e (ReaTms)

F I TR YOGl SUTTH &I AT &) 87

(1) argfes®w Rewr Al &1 @9 $e

(2) Il BT gBAE BT

(3) MR Srgwal Bl AMBITd BT

(@) yTaiierd &1 Jedih Rl

(5) orgaiRa ueA
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146.

147.

148.

149,

150.

Which of the following statement regarding the
software approach to educational technology is
not correct?

(1) Itis also called behavioural technology.

(2 It is characterized with task analysis,
formulating objectives and selecting
appropriate learning strategies.

(3) Psychological principles of teaching and
learning are used in this.

(4) It is the mechanization of teaching and

~ learning process.

(5) Question not attempted

Assertion (A): Post-Validation is an important
step in the computer assisted
learning process.

Reason (R): It helps in making corrections
before implementing the computer
assisted module.

(1) Both (A) and (R) are true but (R) is not the

correct explanation of (A)
(2) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

(5) Question not attempted

What is the main advantage of a Super Video

Graphics Array (SVGA) cord in computers?

(1) Enhances the quality of graphical images.

(2) Increases CPU performance.

(3) Increases the speed of internet browsing.

(4) Reduces power consumption.

(5) Question not attempted

What is a primary application of Computer

Assisted Instruction (CAI) in education?

(1) Developing self-paced learning

programmes.

(2) Replacing traditional books entirely.

(3) Limiting students’ access to knowledge. -

(4) Eliminating teachers’ role.

(5) Question not attempted

What does ‘Netiquette’ refers to?

(1) Avoiding all digital communication

(2) Speaking loudly online

(3) Online behavior and interaction

(4) Not using punctuations in messages

(5) Question not attempted

146.

147.

148.

149.

diferd dEAel B HiteddX SUNH W Gefdd

frafalRead 5 9 ®i9T s 981 T8 87

(1) 39 AIERGT dH-IP! W HeT ofrar & |

(2) 78 B fazeryvr, Sewdl & fHioT vd Suga
e Yorifaay & a9 | Gefed 2|

(3) s R g ™ & RS Rigial
BT GAT far Sirer 2|

@) T feror ug e ufthar &1 wefieiewo
gl

(5) argaiRa ueA

FHYF (A): TSI—IHIOIHAT (TRe—dferse)

S WIS IMATH Ylthar &1 Uh

HE@YYl AR & | -
PR (R): T8 HHICY TS HISIel
A ¥ qﬁwﬁwmﬁ%
Ham 2 |
(1) (A) 3R (R) a1 W& € afds (R), (A) @I
TE! AT 8l Bxal &
(2) (A) 3R (R) THT |l € 3R (R), (A) BT F&T
ST HRAT &
(3) (A) |ET & &ifd (R) Tod &
(4) (A) TId & oifd (R) TE B
(8) SR W
Y H YW STl Thad W (SVGA) Dfs
FT 9= A FT 87
(1) Tifthesy =T &1 Jore § UR Bl 8 |
(2) Wby, &1 e e & |
(3) gexmie FrsfoiT 3 fT ST B

(4) fasToll &1 WUd B9 FHxal 2 |

(5) SrgaRa g

mwaﬁm (Argang) &1 fRrm #

WWW

(1) w—fa & A Eﬁmﬁzﬁ:ﬁﬁﬁzﬁﬁﬁ
AT |

() IRIRS GxaDl I T TRE | qGe T |

(3) BHEI ®I 31 dF Ugd DI WA AT |

(4) Rierpl BT AP BT THG AT

(5) SrgailRa ue=
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